ER-IERRREE-RR

28 A6 AT
ZETE EIHESRRE

T =1 BRI T B s
SSTRHET — R X A
mRrAEEELDHE | LR
X7 (BKE) FER=EHEE |18
(TMKRE) |LiEREEREE (153
B fg%ﬁl{%gﬁ;ﬁ EHEEES)IGRE=6.7, B¥F)IFE=14, BR1)11575=18.6,
oK - EHIIFRIE=(6, 15.1), BE¥FHIGRIZ=(6, 12.6)
=4 REANAKPR | (i m— )
A FEHRE 16m/s
] THRE 16m/s FBICFIRBEEEES
XE BENZES 1285 RIS E D S 40cm
R LD
=i B
X7 REW=EHEE |8
TIERSEHREE %6
T A R iﬁm%ﬁﬁ?gm KEEB4)IRE=5.3, BHFFNIIGRE=11.2, BRIGRE=148,
1] 3 et = gk S T
ok e ?;ﬂﬁj”%gzgg ;(2)8 BEHFIGRE=(6, 9), BAIIIGEE=(5, 14.8),
EEMISATR | meg m—&]
S i ER 12m/s
AE FHREE 10m/s FBIZKPHBEEEFES
AE BEEDRS 12858 E D ES25cm
R AEES
SEEIR =i B
ES FEFICFYEENTEINDSE
BE 60mmLl L 245 ELMEE FHEKE) DEE
BB g [200m
R &/INEE3I0% EMEE60%
BEh D245 REBEE D iFRE30ecmLl Lk
- QBEENREE50ecmLl LT, BEHKESCLUE
4F~6A.8AFE~107: (FHTR) FELY6CLLLEL
EE 17A~8A LA D (RUR) 14°CLAT AV 205 78 LA Lk #k f5
11A~3A H(RESR) FELY12°CLLEELN
= RIESE 3°CUT
Bk
=S SR0°CSHLNT, SR M LI D E A EEFRE UL Hi kR

(5o B RO R P Rl A R TG 2R

TERRE

[90mm

(EREWEREY AEAEER OMEAShEILIREBERLTVETS,



